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J 1) All qu'CStiOn’.S dare COmDUISOI}"

11) Illustrate your  answers with
labelled diagrams
necessary.

whercver

1) Marks allotted to each quest

are given against it.
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1. Choose the correct option and write in

your answer-book ;
A) Phosphodiester bond is present in
1) ADP
1'1')- ATP
) C-AMP

iv) None of thcse. ]
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B)

C)
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The closest relative of modern IlATL

1S
1) (zorilla
1)  Gibbon
111) Orang-utan
1v) Chimpanzee.

The enzyme which acts as a
biological = scissors In  genetic

engineering is

1) Ligase

11) Nuclease
11}  Polymerase

v}  Restriction Endonuclease. 1

| Turn over



ﬁﬁ(ﬁﬂ 6
D) Aedes egyptii is a vector of
i} Dengue fever
1)  Malaria fever
111}  Filariasis
1v} Kala-azar. 1

2. %Hawﬁﬁ#mﬁmﬁ“%mﬁ-ﬁg%
SUHIOT"’ (W1 fewarst wqieq) &1 IugiT far

ar ? 1

2. Which scientist used "spark discharge

' ' 1
apparatus"” for his experiment ?

3. v 3 T € 2 o9 & ud fRdl U e
| ] 1
] 3]Te{T] E’IH%QI 2+
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3. What are vestigial organe = Give one

S |

man., < +4

¢xample of such an organ in 3+

4. A TET IR @ aemg af Frerer & s o
w%ﬁ%ﬁ%ﬁﬁwmwwmﬂaqém?
| AT
T A FE A w, e g s
ﬁﬁfi}mﬁﬂwm%\?ﬁ?l
4. If the thymus gland 1Is removed from

human body, what will happen to his

imm'une system ? https://www.upboardonline.com ]
OR

Breast fed babies are more immune to

diseases than the bottle fed babies.

Why ? 1
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5. PIAWFE & uRkwfyg ifaw g TR

FUTEH @ Fifgremiait § Gsnor el

g 2 L, L
_-.3— + ‘-}

S. Define interferons. How do interferons

check the infection in healthy cells ?

1 , 1
2 t72

6. Hh-dRfrRn § Twm @ A a
 (Awed) 1 IeorE T 3+

6. Mention two vectors generally used in

genetic-engineering.

1 1
2 ¥

7. JmEg gieearst i %1 & 99 FEEE a9 U

quisy &1 Tq TS ® gEEr O WG g &

T I B ?
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Q

sons, one colour blind ang one with

normal  vision. What pProportion of

daughters of this couple will have

normal vision ? 2
8. Wﬂwmﬁmmnﬁwﬁ
g&nen‘?ga%vuﬂgvimﬁamrqﬁtaﬁzqu%-

Ush &eqol Tehaa P

A L LA
2 oY N3

HAY4Gr

Sa (WS &t ot fefae @er so% @

T&TUT FETST | 1+ 5+5

8. In which era and period did

Archaeopteryx evolve ? Give one reptilian

: . 1.1 .1 1
ancd one avian features of L, o+53+5+5

OR

452171
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Define species. Give (WO characters of
L

- ek i n 1
cprescierS. https//Www upboardonling.col L+ 55

5. feef @t omaEs Wil & Wit At A
%ﬁqmﬁ%wﬁﬁﬂaﬁwm%ﬁﬁ
39T I3 | I

1,1 .1
2 F o+

9. Write zoological names of rwo bencficial

insects and mention their products used
. | PSR B §
in human welfare. S+ T TS

10, ¥Y¥a F = e & I (vag-fgg) AR

T (F7-f9g) TReeT H R T S 2

10. Clarify the differences between ex-situ

and in-situ conservation of wildhie 1n

India. 2
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11. 2rgAu fEmdufE F ITl sare L )
11. State the applications of DNA

fingerprinting. 2

12, sgaras (Regfam) a=on JAad-aRe (SAad)-
SEIAT)  FFmErT (Teaf@ma) ¥ 2™ ==
HFT € 2 | 2

argyaar (miEskh) 1 3gE0T 9ied vl Sifwg )

2

12. What do vou mean by a reducing and an

r

oxidizing atmosphere ? 2

OR

Desceribe mimicry with examples. 2
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13. IERE F&1 & 2 Ty gE § e &R
JughT FARY | 1 + 5+

13. What is Biogas ? Give fwo uscs, of biogas
1

in rural arcas. 1+ +-‘1£
14. wn&wmr@wmwm%@qaﬁ
URAE e WfEra &1 a= swE s g
OeR o 3I=<R gy | % +-% +% +—.§-
14. Give the names of national park and
province where Indian Rhinoceros is

protected. Differentiate between National

' 11,1, ]
Park and Sanctuary. St +5+5

15. I2E4 3R fher g0 gfaaiea oAy Arsd &

gfas JuiF HIGT 47 39 Hecd i THHZU |

3+ 2
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S o TOEH STTEgER PTH @ IERAst Sted

7T ﬁfmmmmw-wméﬁ

FAT3T | I+ 2

[llustrate Watson and Crick's model of

DNA. Explain its significance. 3+ 2

OR

Explain with suitable examples about .
the Mendel's principle pf independent
assortment. Differentiate co-dominant
and incomplete dominant giving one

example of each. 3+ 2
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i) WH A
iii) AT @A |
16. What is Biotechnology ? Throw light ¢n

agriculture and health areas where

biotechnology is used for human weliare.

1 +2+2

OR
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Write short notcs on any two of tYhe

15

following :

ii)

111)

Alcohol abuse

Stem cell

Human health.

r-z ._2
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